YMNOAOTIZMOZ EMBAAQY
ANAAYTIKA ME OPOOIQNIEZ ZYNTETAITMENEZXZ

KwdLkOg: TEAIKO E= 5211.49 p?

KOpudEC X Y NMAELPEC
A 496953.823 4168570.188 18.00
B 496938.693 4168560.438 50.00
r 496891.477 4168576.890 47.00
A 496847.065 4168592.271 86.00
E 496885.807 4168669.051 120.00

NINAKAZ ZYNTETATMENQN

NINAKAZ NAEYPON

Kopudég X Y ATIO Ewg MrKog
BEA. '87) A 496953.823 4168570.188 A B 18.00
L = 298.257222101) B 496938.693 4168560.438 A E 120.00
: £ 496891.477 4168576.890 B E 50.00
Eos0e a 496847.065 4168592.271 r A 47.00
E 496885.807 4168669.051 A E 86.00
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